R G E R EL A KPR YR T RGNS ]
¥ || H | 2w oy Y
I [zErk|kmar|z 28] Rt 2E%=AZIIAEBEIFION 639
2 [zEAp|kperz 8] FFMH = F H = R BI2A0Y ¢ A R1108 1018
3 |zganplkpir|z A8 FAP € R AZ1AZ AiFELIHE I 266
4 |cEtrp|kpir|z A8 MMV ZEHZ NTAREBRIMEN 384
S |zErm[kmper[zag] FrarH =2 £ HZ R BHHY T AR]I8E 15 620
6 |zErp|kper|zaB] Frrd =Rz XI5 A E]186 250 625
7 |zErm[kper|zag] FaH = £ HZ R BHHY A R1I8E TEL 2757
8 |zEsk[kper|Z A 8| 3740 = F %= A 2HME BRIEIMELLE 3317
9 |ztrp|kmer|lz 3] R4 = FHZVEEMEBRIETIN 1895
10 |=frp|kpar=28] FAF=F%=-A DI T A REBH 2009
11 [=drplkpet|x FlE) #7473 = £ % < F1I 2040+ b B 115% 350 185
2 |zenplom et PI2] RTA D2 EF A BILOMA AHT6E 225 52
13 |zgenp[®p it B2 AT4H = € %4 F12OMA At B 1335 345 36
14 |zdrp|kper| X B2 3743 2 €%« P2 OMK A RI35F 1550 72
15 |ztrp|kper| X Fl2| 3740 = £ % X FZ A b A 1355 2550 96
16 |=frm|kperld LB] RT3 = F %Y L2 ITARE ATRIEEHH 157
17 [zErhkper|d LB| 343 = % ¢ L2 ITHRATH < 153501 3539
I8 |=frpl&mefle N3] FTAGZFRC L IIOMY 54 R0 514
19 |zEArp|kmer|d L8] A S = F F P LB AT X 1250 8573
20 |=Eam|kper|d LBl AT = F F? LB 20MP AR 2TEE 1109
21 |zgep|kmer)d LB) R =R LB 040 B A EDTH 1109
22 |ztepkpar]d LB ATAA = E R LI A EI6H 828
23 |zgep)kper]d 2] AP S E R L BOME ATRIE2TH 3318
24 |zErp| kPl L) At 2 ERY LT THNE RTE3E255L 2169
25 |zEeplkper)d LB ATA R = £ R YL THCE ATE = 1050 2169
26 [zEAp[kper|ad 8] 3t FHAA T I8HE BRI 1188
27 |zErp|kpar|R A ) AAA 2 E RS DI8ME BRI 1946
28 [zEAp[kper|ad 8] 3t F R RS T I8HE BRI 1262
29 |zErplxper| 4 B ArA € R A4 B9 E B EE3EDE 1850 1665
30 [FErplkper|R 4 2] ATAP 2 E RS T 26H A E1865L 591
31 |zf~k|kpariad g ATAF = " A4 2O6H S ATHELIOEE 248
32 |zErk|EPETIAG T At = £ R A4 B BMNR 4 405 265
33 |zEAm[kpiTIAG R Fratt = £ % A4 28ARR 4 505 185
SO e ] Bl R | Frad = H A4 BRA 4 H6E 154
35 |FErk|xprad d A € R 5\1?8%@?\%&5?% 357
36 [FErp|kpeila B3] ATAB = E RO o BI2RY EE1I55 4838
37 |tk kperle B RTAH = E e o 2 2R 4205 650 331
38 |cEeplkpeiln ) R4 2 F Ko o2 5ARE FRIK84E 5L 1193
39 |zerplkmerlo B RFAH 2 F R v BI6ML FRIHEO0E515 158
40 |ztrp|kperla wB|ATHA 2 F R w3 ITHR FRIFEAE 185 209
41 |zgmplkperln s B RTAD 2 F F o oo B 4N FRIFO9E 105 255
42 |zErp|kperin s B340 = F Fooow 3240 FE3E09E 155 181
43 |=Eskp|xpifle s 8 Frad = F How oo 2 QTHRA S HATEE 957
44 ZEaplkperfa Bl FAE = F Fwooo T2TEREIE 495 1152 159
45 |zEap|kpire w8 FTAE 2 F RO 27?:%'3;‘&%%%49%135%{ 257
46 |2EAR| kP £ 2 A = £ R & B IR ER485E 461




47 |zErm 2 9 X B J4ARFTA X i 16024050 2598
48 |z m nE R 374 ‘r'iifai‘épv%?_?_lﬁwi“ E VA 158
49 |zerm fla %2 Fratd =2 F Hw & R16MRY Ep 565 103
50 |=#4k fle %2 FrAH 2 € Rew X 216HAF EROHEEL 150
51 |z¢4k i Fratt = £ %w & 2 AR 10650 180
50 |zesm 9 B|FTAT =R X 22ARETA &g 152064 46 73
53 |zgsk 9 BRTAE = Rew XD UMRATA L P [ 86 1T 371
54 |lzesm g | Frath = f Rew X232 EELH]EL 1360
55 |4 fla %2 FraH =€ ®ew X 2 3= X FH8FL 842
56 |z=esm rle X[ R7A =& %ew X IAEITHA L F 1100812 319
57 |zesn 0B At 2 Hw  BAMETAN X 1100816 102
58 |zEam R B2 E R X D4R < p 11008 20 266
59 |zesn 1 Fratt = € Rk 216488 805 697
60 lzesm i A = F ke B18ARITA 598 585
61 |=E~5 W= & F% k2240 LRiE2EL 106
62 |zEsm E %k 2250 Y 2% 31 F 25 385
63 ZELR = E WEF 225 L IRiENS 226
64 |zErm = & % k5220645 = B 505 1497
65 |zE~n Z & wkw ZHHRZ A FI4EL 374
66 |=Esm T B OAATA * i 16 DHTE 2050 9
67 |=£45 w2 THR = k] 5 T
68 |=Erm o BTHR = k2T 521
69 |zE4% Fokw BTARETA < ap 11135 498
0 |4k T kw BTHRETA < iE [ L9550 843
71 |zg45 ‘ép km BTHRETA K E 1E9THEL 490
7 |lzgrnm %311#& 15605 675 119
73 |lzernm LY F%ElZ&‘Jﬁ_ B 10255 221
74 |zEsk K2 KE 2 12}’5439'6&%%?66%» 1276
75 |zerm : 521345 = B E1008 13 250 266
76 |zEsm KE 2 13&&'3 11450 71
77 |zerm if_‘é kR 1HRY ERL]16% 731
78 |zesm P K B AR EE 204 21 5L 854
79 |zerm Jar%? 2458 &k 2B 305 63
80 ZErh K15 B 2458 LR 325 581
81 =2 %F%EZE‘JS“ 2% 2055 36
82 |z~ T_i: EE 2 8ARET 4 #0050 918
83 |zE4n % ch% 2 AR T4 #9065 216
84 |zE4n Z 52 1848~ i= %305 187
85 |zE4n ¥ i M2 23 & 1135 157
86 |zEsn % €15 2234 & iFE135%L 536
87 |zE~n % £ F 223 & iFEI3hEL 410
88 |=#2n AP ZEREH LR - FSEL 352
89 |zE4n P2 TH =~ e 551485 2050 195
90 |zesm 52 THR A e A B 148% 655 160
91 |z¢4m % 2 M2 84k~ = ih05L 620
S e % BIE 2 148P & i#FlT50 312
93 |z¢sm T FIE 2 15H < -l ]150 1661
9 |zesm T R A2 1648 RILEL1950 529




95 |zEam|kper|iEe B AT = € Hie LI0AEHEIER1135 154658 526
9% |zErm|kparldEe B Fr# = £ &s@ﬂ 2 10 #R:E ¥ 28 3596
97 |zEak|kmper|Be 2] FraH = £ HiEv 2 10MRE ATRARA3EE 322
98 |zEAm|kper|iEe 2 FTprH = & &s@ﬂ B 1548 E 378w EH15E 2785
90 |zEAk|kP i B 3740 = € BiE0 L I6HRE [FEL1 438 2450 1095
100 |zEArp|kpar|in 8] #7473 =& RiEe 21640 B EL1E4D5L 493
101 |zE€akp|kpar|iEn 8] F74% = € HiEw 216 E HFR1EDHTEL 237
102 |zEArp|kpar|iEe 8] R4 9 =& RiEe 2 IA0E RTRL3EL14TEL 1867
103 |zE€akp|kpir)iEn 2| 3743 = € v 2210 E L1 5435 3050 495
104 [z£Ap|kperliFa 2] 3740 = € RiEn 2 2HREY FT B 285 239
105 [zfArp|kpeorfliEa 2] 3749 = & RiEw 2 3REY FTE 165 294
106 |=d~hp|kpar)ifn 2| X743 = & HiFo 24483 ,4%;@’1,&5%2%2 246
107 |z245|%pr|En T AAF = F R0 258 RIS 1391
108 |=E~m|kparliFn T AT = € Reilfw 2 9mRiEY w4050 501
109 |z€4k|kpar)iEe 2] 740 = € a9 2 OMRATA i [R50 580
110 [z2Ap|kporfia 2] #7473 = € i ZOARATA S g 11150 2963
111 [zE~k| koo 2] 37207 = € ®iEo 26837 <~ i [EXTHL 3108
112 |=Exp|kpir)iEn 2] R7a'3 = & ®iFo 2OARRTA X i 1950 177
113 |z€rm|.perliEa 2 At = & HiEe 2 TAGEY 4650 434
114 [z£Arp|Xporfign 2] 3749 = & Higw 28T RE1IF11O5 698
115 |=€ap|kparjtha 8] 3745 = &€ H4ho ZI6HF 0 A FL20%0 89
116 |=E4~p| kP orldhn 2| RT3 =& ®4h 0 2 LASRTA ~ F 1E65L 2567
117 |z2E€2 k| kP irjgfn 2 AT = € Redhw ZHARY I A ELDEL 986
118 |zE~km|kparldhe Z|RTA P = & HF4h 9 ZHASATA < i 15465 1150 220




